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KW ( KVAR
99 KV A
(PF) = ( KW) / (KVA) =Cos®8
80 1 3/1000
80 1 1.5/1000
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2
1
70 90
75 85
93 96

100
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7KW 5

132 KWH
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44 KW




1Hpl1OOHP

. | cer |
1 69.5 | 76 | 70.9 |
2 75.5 | 80 | 81.0 |
3 78.5 | 81 | 84.0 |
5 81.5 | 83 | 86.5 | 90.
10 83.5 | 86 | 89.0 | 90.
20 85.5 | 88 | 90.5 | 91.
30 86.5 | 89. | 91.5 | 93
50 87.5 | 90 | 92.5 | 94.
75 88.5 | 91 | 93.5 | 94.
100 89.5 | 91. | 94.0 | 95
89Lm W
60Lm W
S7Lm W
S3Lm W
[15Lm W
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220 440 550 ( NEMA "B")
| Hp |23 [5 [712]10 15202530 [40 50 [60 75 [100][125]150 200250 [300]350 400 [450]500
00 [KVAR[ T[T T2 laTa s s s s 101515 [20 [25 35 [40 [45 [ 60 [60 |70 |70
2 Juar 171196 [6]6[6|6|[6|6[6|6[6]6[6]6|6[5]5 5
00 |KVAR| 1122 2 als s s [10[10]10]15]20 2530 40 |40 4570 |80 [100] -
4 Jouar 20f16 153 s |s[s|[s[s[s[s[7[7[7]6]6 ]
oo |KVAR[ T 12 a TaTals s s 101010152530 30 [60 [60 |80 80 |80 ]
6 Joar [23[19]19 19 [16[3[3[9o oo folololooo[o]o]s -
o0 |KVAR[1[2 1214 s s s |5 i0[10]1s]15]20[25]30 40 [55]s0 8080160 ]
8 AR [24[24 (20 20 [20 [15 15 [15[15 [15 12 (12 [1r [1nr [0 [ 1 [0 [ 11 |10 ]
o |KVAR| - [T s s T10 (10 (10 [10 15 [20 |25 |40 | 45 |45 |55 |60 | 80 -
0 Toar [- - T - Tz 7 s s 2222w ]
oo |KVAR| - [T Fs s o (10 [10 (15 [20 [25 (30 |45 |45 [ 50 [ 60 [100]120 ]
120 Toar [ - - [ - - J2r 2t 2t [1s g1z 17 [17 171715 [ 15 [13 [13 |13 -
220 440 550 ( NEMA "B”)
Hp |2 |3 [ 5 [ 712 [10]15]20 25304050 [60 75 ]100][125]150]200 250300350400 [450]500
3600 [KVAR [ 1 [ 1 [1 [ 1 [20aaa]s][s s[5 10]15[15]15]4045][50]50]60[60]70
2 [ uar (16109 8 [s[s|7 717 s5[s5[s[s]s[s]s]s]s 50555
1800 [kvarR [1 [ 12 2 [2[4a 5[5 [5]5t0]10][10]20]20]25[40]50]50][50]60]70 90
4 [ %ar [20[16[16] 13 (3|39 o7 (71777717666 s|s|s|s
1200 [kvarR [ 112 2 [4[5[5 5[5 101010152530 30455070 707070 [90
6 | %ar [2221 21 15 [1s[is[2[n oo [o[o[oo[s s s [s[6]6
900 |kvAR [ 1 [2 2] 4 [s[s]s[s[1olw0]15]15]15]30 304050707080 [100][100]110
8 | %AR [24 (2421 21 (21|33 ufufulofoolo]o]o9 99909
720 [kvarR [ - [ - [ - 5 [s[510]10]10]10]20[2030]40 455070757580 [100][100]120
10 [war |- [ - [ - 20 [2s[2s2s 2515151515155 15[ [nn|[n|n
600 |KVAR | - |- [ - - [5[5 101010102530 404550607590 [105105]110[110]120
12 [war |- [ - [ - - T302525 2519191997777z [z 171717




220 440 550 ( NEMA "C")

| Hp Is |5 |71210 1520 |25 [30 [40 50 |60 | 75 [100 125|150 | 200

1s00 [KVAR| - 212 [2l4ls|s[s/[i0]10]1s|15[20 2535 40

4 Juar [-Jw0f0oololololololol7[7 77 7

oo [KVAR[2 1212 Fals s s s 10[10]1s[1s]25 3535 45

6 Joar 2019 17 [17 141109 o olos[s[s 7] 7

00 |[KVAR|2 2|4 s /5|5 [10[10]101520|20 2530 |50 | 50

8 Joear [25[21] 21 [21 1615 [15 (15 12|22t f1n[1n 11| 10

o [KVAR| - |- - F - -0 1015153030 [40 |50 [s0 | 70

100 Joar [ - [ - [ - [-[-[-T1s5[15[15[15[15[15][15 1514 14

oo [KVAR| - [ [T o 1015 2530 [40 | 40 | 50 [ 50 | 70

120 Joar [ - - [ - [--]-T1s]is]s]18[18[16[16[15[13] 13

220 440 550 ( NEMA " C")

Hp | 3 |5 [712] 101520 25 30 [40 5060 [75 100125150 200250 [300] 350
o0 |KVAR| - [ 12 f 244l s s [10f10]10]1s]2 |20 |35 405060 60
Y luar [ - (1515 [l lololols s s [ 77217777
oo [KVAR| 2 [ 2 12 a Ta s s s [0 f10]1s]1s|25 3035505080/ 80
6 Toar (191915 [2[n2[n2]ololololololo s [s[s s [s]s
o0 |KVAR| 2 |4 | 4 |'s |5 s 10|10 |10|15]20 20|30 |30 |45 |70 |80 |80 |80
8 Toar [30 26 22 [15 155|155l
ISV I e I e R T et O N N e
0 Toar [ - [ - - -T-T-T-T-7T-T-Tws[ws[ws[w]-]-7-7T-7T-
oo KVAR| - [ -
12 Mo ar | - - - R ; ; - - R - - - - ; R - - R -




2300 4000 ( NEMA c")
| (RPM)
‘ 1800 ‘ 1200 ‘ 900 ‘ 720
4 6 8 10
| HP | KVAR | %AR | KVAR | %AR | KVAR | %AR | KVAR | %AR
| 100 | 30 | 1 | 30 | 1 | 3 | 11 | 30 11
125 | 30 | 1 | 3 | 1 | 3 | 11 | 45 11
150 | 30 | 9 | 30 | 9 | 45 | 9 |
200 | 45 | 9 | 4 | 9 | 45 | 9 |
| 250 | 45 | 8 | e | 9 | e | 9 |
30 | 45 | 6 | 75 | 9 | 15 | 9 |
| 30 | e0 | 6 | 75 | 8 | 715 | 9 |
1200 900 720 600
6 8 10 12
| HP | KVAR | %AR | KVAR | %AR | KVAR | %AR | KVAR | %AR
75 | 15 | 109 | 20 | 100 | 30 | 157 | |
100 | 25 | 87 | 3 | 98 | 30 | 131 | 50 | 119
o125 | 30 | 96 | 30 | 8 | 6 | 214 | 60 | 181
150 | 30 | 88 | 45 | 134 | 60 | 214 | 60 | 169
200 | | 60 | 93 | 75 | 156 | 75 | 145
%A R ( KVAR)
%A R
%A R( KVAR/ KVAR)
L. CNS
A
V) (KVAR)
110 0.1 0.15 02 025 03 04 0.5
220 03 04 05 075 1.0 15 20 30 40 50 75
220 0.5 075 1.0 1.5 20 30 40 50 7.5 10 15




V) (KVAR)
110 5 10 15 20 25 30 40 50 75
220 7.5 10 20 3050 75 100150 200 250
1 A
2. CNS
(V) (KVAR)
3.45 10 15 25 50 100 200 250 300
6.9 10 15 25 50 100 200 250 300
11.95 10 15 25 50 100 200 250 300
( KW- KVAR )
KVA KW KVAR COS 6
So Po Lagging(+) 0o
Qo
Leading(-)
Sx Px Lagging(+) COS 6x
Qx
Leading(-)

| Sr ‘PFPo-i—Px | Qr=QotQ x COS 0T

S,P,Q,Cos®
P S Cos®
Q=S 6Sin
s=1 ®J"”

Cos® P/SEPI(p



10 ORVA 0 65
85 KV AR
[ ]
KVA KW KVAR COS 0
\ \ 10000 |P0=6500‘ Q 0=7600 | 0.65
Px=0 Qx=?
\ \ Sr=7650 |Pr:6500‘ Q r=4030 | 0.85
Q = 4030-7600 = -3,570KVAR
Q=¥ %V (o€ )VEeC
C=DW%=Q & ¥V
Example: Popesr mrachine: sjector - dryes
Secondary nesisber i coupling coantngl
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Output powsr] %)
Secondary resister controt - Electromaganetic coupling comtral

20
Example: punp - cyclone - blawer

o |
- | Bl Eios
el Bt Bl _
power « afficiency %) power - atficiency (%)

Cutprt power| %)
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